DET/PHY (1)

PART—I
(PHYSICS)
.. _ Distance < " 99
1. (a) Always velocity = e T 0 1. (a) QQI GQ‘GQGI = Qaa
i < aAq AG6RG
(b) Always acceleration (b) 959l qad =
. . %1219
_ Uniform velocity
S < _ 90696109099
, (c) Q99 aRg =
(¢) Always retardation = change of 1210
Velocity
Time
(A) (@) and (b) are correct (c) is (A) (a) 8 (b) R, (¢) QR

wrong

"k (BY (c)is correct, (a) and (5) are wrong @/(C)/OQ’ (a) 8 (b) QM

(C) (a)and (c) are correct, (b) is wrong (C) (a) 8 (c) 0K, (b) QM
(D) (b) and (c) are wrong, (a) is (D) (b) 8 (c) @R, (a) OR
correct
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2 A D
5
= C
g
B
Ala B
Time L
In the given graph

(a) BC,represents uniform velocity. # v

(b) AB, represents non-unifor’mk

velocity.

(¢) CD, represents uniform accele- v
ration.

f'?Nbe) is correct, (b) and (c) are
- wrong

(B) (a) and (b) are correct, (c) is
wrong

(C) (a) and (c) are wrong, (D) is
correct

(D) (b) is wrong, (a) and (c) are
correct

QgIaR

ek

Q@ 69GIEER

(@) BC-99900699g 9OIA8 |
(b) AB-21Q¢l 9R6R09g JLIN8 |

(¢c) CD-A9QQdq AQIQ& |

(A) (a) OR, (b) 6 (c) M
(B) (a) 8 (b) 0K, (c) @M
(C) (a) 8 (c) @R, (b) OR

(D) (b) R, (a) 6 (¢) OR
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3. If the radius of the lunar orbit is 'x'
units, then in 15 days the angular and
linear displacement of moon would be
respectively,

(a) 90° mx
(b) 180° 2mx

(o) 180°, 2x

Nz a) and (b) are wrong, (c) is
' correct

(B) (b) and (c) are wrong, (a) is
correct

(C) (b) is correct, (a) and (c) are
wrong

| _(/9)’( a), (b) and (c) are wrong

DET/PHY (1)

3. AT 99 QYA YIQIT 'x' AR T, 6869
15 @26Q 092 6@1de QIO 6 fOYe
QQIUR Q2IQET 629,

(a) 90°, mx

(b) 180°, 2mx

(¢) 180° 2x

(A) (a) 6 (b) @@, (c) OR
(B) (&) 8 (c) @M, (a) O
(C) (b) OR, (a) 6 (c) @M

(D) (a), (b) 6 (c) gm

\‘%ﬂ"’r
( Space For Rough Work )
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4. Which one/are of the following
represent(s) acceleration ?

sl 2
(9)/1) =
N\ 28

2(s—ut)
= :

(b

&
" A
.

-~ &

1

(A) (a) is wrong, (b) and (c) are
correct

iB{(a) and (c) are correct, () is

wrong

(C) (c) is correct, (a) and (b) are
wrong

M (b) and (c) are correct

geng ?

v — 32

(a) 2s

2(s—ut)

(b ==

© =

(A) (a) @M, (b) 6 (c) OR
(B) (a) 8 (c) O, (b) QA
(C) (c) 0%, (a) B (b) R

(D) (a), (6) 8 (c) OR

4. Q6QIQ FRIQ 6QUT/6R4QTR QaEq

( Space For Rough Work )
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3. Force is
_ta) avector quantity

_kb) the product of mass and accele-
ration

‘(¢) Energy spent per unit mass

(A) (a) and (c) are wrong, (b) is
correct

(B) (¢) is correct, (a) and (b) are
wrong

P (a) and (b) are correct, (c) is
=" wrong

(D) (a), (b) and (c) are correct

6. (@) When 20 N force is applied on a
body of mass 8 kg, the accele-
ration produced is 2-5 m/s?

+(b) Gravitation is an isolated force

_c) The energy required in lifting a
body of 5 kg mass to a height of
2mis 100J

: (g =10 m/s?)

x “Ma/) and (c) are correct, (b) is wrong

(B) (b) and (c) are wrong, (a) is correct
(C) (b)is correct, (a) and (c) are wrong

(D) (c)is wrong, (a) and (b) is correct

DET/PHY (1)

. OF 6208,

(a) 99 L4 QUF

(b) 9gR 6 g qeITe

(c) 90 9ee 9gQ IR Te 4§
(A) (@) 8 (c) @m (b) OR

(B) () OR, (a) @ (b) M

(C) (a) 8 (b) OR (c) YW

(D) (a), (b) 6 (c) OR

. (a) 8kg (Q6RUIGIA) 2GR 9 9@ 9

QU6 20 FRTR R YEAIG Q6M,
QR4 2-5 FeQ/0 664 629 |

(b) 921996 9@ IRURT 99 269 |

(c) 5@emigIa 9gQ T899 @gg 2 o]
Qe @oRel A1 100] €9
NS |

(g = 10 iva/edcasas)
(A) (a) 8 (c) OR, (b) QM
(B) (b) 8 (c) @M, (a) OR
(C) (b) OR, (a) 8 (c) QW
(D) (c) @M, (a) 6 (b) OR

( Space For Rough Work )
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7. (a) Pressure exerted by a body of
mass 20 kg supported by a base-
area of 250 em?® is 8 X 10% N/m?

(b) Liquid pressure depends on the
shape and size of the container.

(c) The pressure at a point within the
liquid depends on its depth from
the surface of the liquid.

(A) (a) and (b) are correct, (¢) is wrong
(B) (b) and (c) are wrong, (a) is correct

vl Wb) is wrong, (@) and (c) are correct
,(/D) (a), (b) and (c) are correct

8. The weight of a stone is 100g in air.
When it is dipped in kerosene, it
weighs 75g and in salt solution 60g.
The relative density of salt solution
with respect to that of kerosene
would be

7. (a) 99 20 kg RgQ 99¢ 9gq 250 cm?
ARIA QUER AYER & ST 629
8 x 10* N/m?

(b) Ga% AR GIA 2GR (TIF)Q 2GS
8 2IRA AT FNQ K6 |

(c) oan a@idg e 396 94 919 GaR
aoide gaq 999 SRIee Ads
F0Q F6Q |

(A) (@) 8 (D) OR, (c) gm
(B) (b) 8 (¢) @M, (a) O@
(C) (b) gm, (a) B (c) OR
(D) (a), (b) 8 (c) OR

8. 68 Q2R AYSR BeF 100 FiA AT |
QI2Ig F6QIIRER AFIREM BRR 75 gIFl
e° 8 dISea QQI@sm 60 gicl 29 |
6069 @6QUTR QAL RECISQ 2[R
AIQYI 629,

(A) 1-6
(B) 6-1
(C) 2-6
(D) 6:0

( Space For Rough Work )
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9. Aforce when acts on a body east-wards,
the body is displaced 40 m. When the
force of same magnitude acts on the
same body (from its new position)
south-wards, the body is displaced
30 m. The magnitude of the resultant
displacement of the body would be

(A) 10m
b \@Fom

(C) 70 m

(D) 1200 m

10. The momentum of a body of mass
2 kg changes from 80 kg m/s to
50 kg m/s. The change inits kinetic
-energy would be

(A) 6251]

-A”\(M
(C) 1200 J
(D) 1600 J

DET/PHY (1)

9. 646IEN 9g QUER IR Y IFY geLlIG

@AQIQ G12l 40 fica AgIde caRl | Q&
Qga Q0 AQQIFY 69T AR oF
Q8 Q0 2Igy geld @AQlg 9ge
30 figq QgIde 62w | 6069 9ga
QRGN YGIAR 629

(A) 10 GoQ
(B) 50 dgeq
(C) 70 dex
(D) 1200 fieQ

10. 64159 2 kg @gq Qe 9ga A°696

80kg m/s @ 50kg m/s @ ddeae
626, QIR 9o 9189 9Teas 629

(A) 625 gm
(B) 975 gm
(C) 1200 gR
(D) 1600 gR

( Space For Rough Work )
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11. What time would be required to fill
completely a tank of 18,000 litres
capacity by water pulled from a depth
of 7-46 m by a motor of 1-5 H.P ?

(A) 10 minutes
(B) 15 minutes
(C) 18 minutes

20 minutes

12. If two bodies A and B of masses M,
and M, respectively (M, >M,) have
the same momentum, then
(a) Energy of A>Energy of B

+(b) Velocity of A > Velocity of B
_A¢) Energy of B> Energy of A
_(d) Velocity of B > Velocity of A

(A) (a) and (d) are correct, (b) and (¢)
are wrong

%.-(a) and (b) are wrong, (c) and (d)

/ are correct

(C) (b) and (c) are correct, (a) and (d)
are wrong

(D) (a) and (c) are correct, (b) and (d)
are wrong

11. 18,0()0 QOQ FRUQAL! IR FIFER
7-46 QA6Q o AldeId agdaise
Q1Y 9@ 1-5 Agael G 6719QQ
6Q6Q AT AT ?

(A) 10 A5g
(B) 15 dag
(C) 18 aag
(D) 20 Q¢

12. Q@G Qg A 6 B @ 9gQ Q21964 M, @
M, (M, >M,) 6% | Q9% 6295
Q°6Q6 QAR g9, 6669

(a) AQ 98 >B @ 4§
(b) A Q Q629 > B Q 969
‘(c) BRI >AQ a9
(d) BQ 9Q629 > A @ 98696

(A) (@) 6 (d) BR, (b) 6 (c) R
(B) (@) 6 () 98, (©) & () O]
(C) (b) 8 (c) OR, (@) 6 (d) QM
(D) (a) 6 (c) OR, (b) 6 ()

. ( Space For Rough Work )
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13. For what properties, mercury is used
as the thermometric substance ?

(@) Duetoits high thermal expansion.
(b) Due to its high density.
(¢) Due to its greater specific heat.

(d) Due to its property of non-
sticking to glass.

(A) (a) and (d) are wrong, (b) and (c)
are correct ’

(B) (b) and (d) are correct, (a) and (c)
are wrong

(C) (a)and () are wrong, (c) and (d)
are correct

¢ ) and (c) are wrong, (a) and (d)
are correct

14. What would be the temperature of
the mixture when 2 litres of water at
10°C is mixed with 5 litres of water
at 80°C ?

DET/PHY (1)

13. QI99Q 699 699 Q¢ 6QIg eI2Ig
QIS QSR NILAQ FAILN ?

(a) N2IQ YR QIA1G RS Gél 621g
(b) NS 2YS ALS! 6QIg

(c) N2IQ 2ye ¥F9 Qg 6alg

(d) 921 QI6Q MTACL FIF

(A) (a) 6 (d) @R, (b) 6 (c) OR
(B) (b) 8 (d) OR, (a) 6 (c) YR
(C) (@) 6 (b) @M, (c) 8 (d) OR

(D) (&) 6 (c) g, (a) 8 (d) OR

14. 10°C Q1091g1 984 2 AgQ 9742 80°C
QARG QFE 5 AR @R IR

g8 QUG 6R6G 628 ?

(A) 35°C (A) 35°C
'(B) 450 (B) 45°C
=T (C) 60°C
(C)60°C
\(';/jooc (D) 70 °C
' ( Space For Rough Work )
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DET/PHY (1)

15. (@) Radiation of heat does not need a

%

16.

medium always

(b) The temperature range of a
clinical thermometer is (95 °C
to 110 °C)

(¢) The normal temperature of a
healthy human body is usually
37°C.

(A) (@) and (b) are correct, (c) is
wrong

b) is wrong, (a) and (¢) are
“.correct

(C) (a) and (¢) are wrong, (b) is
correct :

(D) (a), (b) and (c) are wrong

What quantity of heat is required to
convert 10 ml of pure water at 0 °C
to steam at 100 °C under normal-
pressure ? ;

(A)A000 calories

(B) 6400 calories
(C) 10,000 calories
(D) 26,880 calories

15. (a) Gl0 QFa¢ Qe adel arag

16,

2GS 99 RIE |

(b) @ Q1991 2q6AIFTRa QAL
Q19195 °C 9 110 °C qii6q 2 |

(©) 99 AI9S d9109 QRIQY GlasIgl
QAIIREGS 37 °C 26 |

(A) (@) B (b) O, (c) gm
(B) (b) @M, (a) 8 (c) O)
(C) (@) 6 (c) @R, (b) OR

(D) (a), (b) 6 (©) @R

0°C6a &9l 10 fiRfes e °Rg
100 °C iggigl ada Qlereq (aiee
QIIeQ Q1 FRAIN  6gARER) TFEe
QA% D 6R6E VI TQS 2

(A) 1000 e96m1@
(B) 6400 ea6mia
(C) 10,000 sx6mi@
(D) 26,880 s@sqa

( Space For Rough Work )
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17. (@) During conduction of heat, the
particles of the conductor only
transfer energy to the neigh-
bouring particles  without
changing their positions.

_(b) Electrical resistance of a cylin-
drical conductor is inversely
proportional to the square of its
radius.

(c) Rise of temperature in a metallic
conductor decreases its elec-
trical conductivity.

(A) (b) and (c) are correct, (a) is
wrong

(B) (@) and (b) are wrong, (c)is
correct

(C) (b) is wrong, (a)and (c) are
correct

Wd (c) are correct

DET/PHY (1)

17. (of 69163 gE@eiel duea @Ig
QA 696R QIR AERYES
gIfIEe Q6eIR 6@9e 98]
a6l QER ARG gAR @8-
e |

‘eb)/ @  dReq IgeRda  agve

dAQIZIQ gOeal QIR MYIAIT
QIR gRERIAIGAIS 6S |

JF) S1aqIgl 9F 626m 2SS ARRIL1A
QQIQ QLR VAGI 9IA 6RIR2IN |

(A) (b) 8 (c) O, (a) YR
(B) (a) 8 (b) @M, (c) OR
(©) (&) g, (a) 8 (c) OR

B (@), (B) 6 () O%

( Space For Rough Work )
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DET/PHY (1)

18. A1-0m long matallic wire of 18. 9@ QAGAIETR BEq 1.0 feq aae

uniform crossection is drawn into a ISR 0I9Q 18  AAsAIceR BFg
3-0mlong wire of uniform cros- 3.0 Q. Q8 eqgql | Q8 0Iaq
resistance of the new wire cga 2
compared to that of the original
wire ?
A) 3 g6l
(A) 3 times (A3 9
X M’nes (B) 9 94
L. 1
(C) 3 times (C) 3 g&
3
U D) 1 gg
(D) g times D) 5 @

( Space For Rough Work )
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'Lg' c &
o
LS
0
°Q
A MW B
216 ’
1 6 volt —BatErT Ammeter

l Ke
| /K
In the given circuit diagram, on
closing the key.
\/61_) The reading of the ammeter
would be 6 Ampere.

) The reading of the voltmeter
would be 6 volt.

#(c) Effective Resistance across A
and B would be 2 ohm,

~(d) Effective R‘esistance acros's B
and A would be 1 ohm.

(A) (a), (b) and (c) are correct, (d)
is wrong

(B) (b) and (c) are correct, (a) and
(d) are wrong

&P, (b) and (d) are correct, (c)

is wrong

(D) (), (¢) and (d) are wrong, (a)
is correct

DET/PHY (1)

19. ) K\J@ﬁ@

(&
.\, &
’LQ (o] =
N .
&
0
‘0
A MM B
2Q 8
A F
6 volt —Batter Amlmeter
T Ke

Bl

9@ 909 8¢ agea Jo(key)q 9@
[EM

(a) 96GQ QIOYI® 6 2IFYS 629 |

(b) BRAIMGATY  QIOYFT 6 CRAURS
699 |

(c) A G Baeq age gosqiyl 2 6g
62Q |

(d) BB A auea age gosaid 1 6q
629 |

(A) (), (b) 6 (c) BR, (d) @A
(B) (b) 8 (c) OR, (a) & (d) @A
(C) (a), (b) 6 (d) B, (c) A

(D) (), (c) 6 (d) @M, (a) OR

( Space For Rough Work )
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20. Two electric-bulbs P and Q have
fillament resistance in the ratio of
1:2. When they will be connected
in parallel to the same source, the
ratio of the powers dissipited by
them shall respectively be

(A) 2:1
By 1% 2

\/(.{4:1

(D) 1':4

21. A house with mains supply of 220
volts uses five fans each of 100 watt,
an electric iron of 500 watt, five
bulbs each of 20 watt. The minimum
capacity of the fuse wire to be used
at the main switch of the house
should be '

(A) 15 Amperes
(B) 10 Amp_eres

\('6/5 Amperes -

(D) 2-5 Amperes

20. P B0 900 QA1 JTNIENLgLaa
goeaRIQ AQAIG 1:2 &6 | 692 Q@
ANQG ATIBRAUR IAULER IR 67QIGR
Q€ 92 Q°6RIS FEM 6N AIGIY
FUQ DRFET 2QAIG 629

4

(A)2:1
(B) l‘:2
(C)4:1

(D)1:4

21. 6515 Q9] 220 6RAURCA IQYS 6T
6208 62%R6eq 100 g Qde 5C
a°gil, 500 QI QIY YR RERRER A1,
20 Gic' Q4 50 QM QY9Le 62QI-
QIR GG 666G AIFA IR I Josa
QLS 629! QAR ?

(A) 15 21899,
(B) 10 21%9Q
(C) 5 i

(D) 2-5 a1fAQ

-1
7 it < o

g - |

c)U'O A

( Space For Rough Work )
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22, (@/We come to know about the

direction of electromagnetlc
field created around a current
carrying conductor by the right
-hand thumb rule.

(b) We come to know about the

(©)

direction of motion of acurrent
carrying conductor i in a magnetic
field by Fleming's rlght hand
rule.

When current passes through a
circular conductor, the direction
of the magnetic field is along the

tangent to the circular conductor..

(d) ‘The fillament of electric bulb i 1S

made of tungsten metal,

, V,(Kj (@), (b) and (d) are correct, (¢)

is wrong

»@) (@) and (c) are correct, (b) and

(d)are wrong

) (b) is wrong, (a), (c) and (d) are

COI’I‘ECt

Wd (¢) are wrong, (a) and
(d) are correct

22. (a)

()

(o)

(d)

DET/PHY (1)

4 @qq@ geIgr GIaa 9Iaass
699 2946-GRA1G 69g 98 g,
QI2Ia 90 eRE-2g QRIGR Sag
QR RIGLY |

69N 9QiQ gl 91ag gAaa
6AG6Q QYER CILl 6a9 AQ 98
@A9, 012 6 e ¢Fa 2gage
QIR QIS |

6UEPERER 9@ QRIFIQ AR
169 9QYQ 99126 29, 98 eaea
6R9Q @9 QRINIQ ARRILIQ Fq
QO6Q &g |

AEARER IN6R 490 FRlcAS
CEIERR AIGER B2IA 6LIRAIN |

(A) (@), (b) 6 (d) B, (c) g

(B) (@) 6 (c) OR, (b) 6 (d) R

(C) (B) @m, (@), (c) 6 (d) OR

(D) (&) 8 (c) 9, (a) 6 (d) BR

( Space For Rough Work )
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DET/PHY (1)

23. When a resistance wire is connected

24.

to a battery of 12 volt, the ammeter
reads 4 Amperes. Then the resistance

of the wire would be
\@%cfr:

(B) 8 ohm
(C) 16 ohm
(D) 48 ohm

A and B are two circular conductors
of the same material and thickness
carry the same amount of current.
The number of turns in 'B' is twice that
of A, but radius of 'B" half of that of
A. The ratio of the strength of the
magnetic field at the center of 'B' and
that of 'A’ is

23. 99 gosaR 91ag 12 sains 838 &

24.

QUIETA1 AL A°6LIT RARIQ AATER
A8l 2[R Aoy 4 2IFAR 62! |
6069 QIR YOI 629

(A) 3 6
(B) 8 69
(C) 16 69
(D) 48 67

A BB QRS QRINA AL | A9
QI QAR B 6CII6TR FEY ¥Q° AR
dRAIQ QY QNG FINER gRlEe
62G8 1 'B' 60 'A'Q 9@ 99 GIQ 699
&g, 19 'B'a Y1419 'A'Q QYIS 21l
A6S | 'B'Q 60969 Y& QRAIG 6959
Qifie 99 'A'Q 69968 Y QARIY
6982 QAIF2NQ 2AQAIe 689,

(A)4:1
\orT 4 (B) 1: 4
(C)1:2 (C)1u2
(D)2:1 (Dy-24]
( Space For Rough Work )
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25. (a) A fuse-wire is made of an alloy ..

of copper and tin.

(by The house-hold wirings are
parallel ones. '

(¢) Out of the two bulbs, the one
which has fillament resistance
more, will glow more brightly.

Wd (c) are wrongy (b) is

correct

(B) (a) and (b) are correct, (c)'is
wrong '

(C) (a) is correct, (b)and (c¢) are
wrong

(D) (a), (b) and (c) are correct

DET/PHY (1)

25. (c\}a Jee Q9 °Ql 68 TRa R fg-
AIQER AL |

@) 92 Gedgee aasae aage
266 |

(73 QR0 6EQIee QRIAkIQ QIR
TREALR JOEAU 2R, P12 2R
QG 62N IR |

@/m) 8 (c) R, (b) OR

(B) (@) 8 (b) OR, (c) QR
(©) (@) OR, (b) 8 (c) QR

(D) (@), (b) 6 (c) OR

('Space For Rough Work )
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DET/CHEM (1) :

PART-1I
(CHEMISTRY)

26. Which sequence of the scientists - 26. 2091I4g SENIFRRN §AIQD 215319

aSSOCiated with the Sequential e @@@ GQQIQRQQIQQQ GQ@' @ﬂ@
discovery of the sub-atomic particles 56 o '
18 correct ? M
7'}" Won—Rutherford-Goldstein- ' (A) UQR-QIRETI-6TNRRARG -
/ Chadwick Q1B
(B) Rutherford-Bohr-Thomson- (B) QaQ6€rIe-69129-219Q5 -
Millikan daaio
(C) Thomson-Goldstein-Rutherford- (®) aﬂQR‘GﬂlﬁQ@QIQQ‘-QaQGG’Ié—
Chadwick 0I0GR
(D) Millikan-Gé]dstein-Bohr- (D) ﬁﬁQlQ—GQIQQQlQQ\—GQIQQ-
Rutherford. QeQEIE

27. In the modern periodic table, the number 27,2189 9949 198169 6Alageaa

of valency electrons of the elements LELINR AENRGR QG4

(As\ increases along a group (A) 9Q 9960 8 62IR2IN
ﬁ( increases along a period (B) 9@ 9441969 Q& eaIRela

(C) decreases along a group (C) 9@ gdea 2Iq 62IR8IIg

(D) decreases along a period (D) 9@ 9dYI96a Q19 62IReld

( Space For Rough Work)

(18) ( Continued )



DET/CHEM (1)

f 28.How many electrons take part in the 28.Q1900102QQIE 214 T0RER 6060IT

formation of a carbondioxide molecule ? RAERRER QUG 69RIE ?

(A) 2 (A) 2 e r‘\
oy (‘ '\’

(B) 4 (B) 4 3 @& *

(©) 6 : ©eo6 J- Ha

AReprse (D)8 &

- 29.The mass of 1-12 litres of carbon- 29.9199@ Q19 6 QITAIGIE] 1-12 ReQ

dioxide at NTP would be . RIRGIAARAINGR QG 629
(A) 2-0§g (A) 2:05 gl.

! - (B)2:10¢g (B) 2-10 9.
(C)215¢ (C) 2:15 9.

vad M (D) 2:20 g

( Space For Rough Work )
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DET/CHEM (1)

30. (a) Electrovalent bonds are generally
formed between the elements at the
two ends of the modern periodic
table.

(b) Covalent bonds are generally
formed between the non-metals.

?

(¢) Electrovalent compounds have
low melting points and covalent
compounds have high melting
points.

(A) (a) and (b) are correct and (c) is
wrong

(B) (b)and (c) are correct and (a) is
wrong

(C) (¢) and (a) are correct and (b) is
wrong

W (b) and (c) are correct

30. (a) QRIS 2IES A4S QIR

M gieeq ael 61aaqgee
A6 QYR A°6AIFY QR 06
62IReIN |

(b) QARIGAIGY 2UGIER  FI6R
ALA6AIRY QR G100 6RIReIN |

(c) 6N 61T IFRIE
@] 2N 99° AR 6Q1GIR—-
oA IRRIF 2@ &I |

(A) @ 6(0)0R] & () g8

(B) (6) 8 (c) 0R 9&° (a) @R

(©) (c) 8 (a) OR 9&° (b) @M

D) (@), (®) 8 (c) O)

( Space For Rough Work )
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31. (a) Hydrogen has the highest calorific 31. (@) 2SRy QYIS A/ QRIIER

value as compared to that of other AREFIEFIR MIENNFIRY AR
gaseous fuels. aee |

(b) It can be obtained cheaply from (b) 996 92 @RQY 9ge @l
water. JIRAIRS |

(c) Itisnotused as a domestic fuel due (c) 92Iq F63Iae udealg 98Iq
to its explosive nature. WeAIR QRF QT ML

QRUAIR AL |

(A) (a) and (b) are correct and (c) is (A) (@) 8 (b) OR 99° (c) 9R
wrong

(B) (b) and (c) are correct and (a) is (B) (b) 6 (c) OR 99° (a) Qm
wrong

(C) (¢) and (a) are correct and (b) is (C) (c) 8 (a) OR 9<° (b)
wrong '

Wb) and (c) are correct (D) (@), (b) 6 (c) O]

( Space For Rough Work )
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DET/CHEM (1)

32. (a) One molecule of Ammonium
phosphate.

(6) Two molecules of Potassium
dichromate

(c) Three molecules of Sodium silicate

Considering the total number of
atoms in each of the above cases,
which one of the following
sequences is correqt ?

\n >
(A) abe 2
(B)bca ‘

(D) None of these

32. (a) ¥6RIRA TYETER 9@ &g

(b) 6QIG1AGE GIN6RIEASE 90
T Bg

(c) 6AIBAA TRERER TerIT 2g
QUEQIY g6RYR 6886 661G
Qedlg A°9iIg 88 @@ Feqig
FRIQ 609 9a% OQ ?

(Aabc

(B)bca

(Ccab

(D)vanug 6xlads g

( Space For Rough Wbrk)
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33. (a) Air pollution causes acid rain.

(b) Acid rain causes water pollution.

(c) Water pollution causes soil pollution.

(A) (@) and (b) are correct and (c) js
wrong

DET/CHEM (1)

33. (a) QI 9984 6QIq QQdl 99 |

(b) UQedl 6QIg 99 99848 99 |
(c) SRgeas 6QIg aR 99us ¢4 |

(A) (@) 6 (b)) OR 9&° (c) R

(B) (b) 8 (c) OR 49" (a) QR

(B) () and (c) are correctand (a) is
3 wrong -
L c) and (a) are correct arid (b) is

7 wrong
132"* P)(a), (b) and (c) are correct

(C) (c) 8 (a) O] 4e° (b) QM

(D) (@, (b) 8 (c) 0K

34. The ore of which metal is not suitable

34. 609 IR 64, 63T RIS QIR
for electrolytic reduction ?

29098 ?
(A) Mg . (A) Mg
(B) Zn (B) Zn
oA | (©) Al
(D) Li (D) Li

( Space For Rough Work)
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DET/CHEM (1)

35. Which one yields least number of 35. 6299 e1a QQ46Q A90Y A°E@

hydrogen ions in aqueous solution ? LUNELIEFR, AR & F6Q ?
(A) Carbonic acid (A) Q169161 3@
(B) Sulphuric acid (B) 9aagae 1de
D\ Nitric acid (C) QI98Q 9de
(D) Hydro-chloric acid (D) 2196816510 9d@ |

36. (a) Sodium Chloride is available as a 36. (a) 6QIGAT 6QARR SERQ6Q
mineral. : QUM 6LINEIN |

(b) Sodium Chloridé is used as a

o (b) 6QAFAA 6qARe Gagea
medicine.

‘ : | Mege 99 |
(¢) Sodium Chloride is available only ~

6QIBAS 6QIANG QR AR
from sea-water. (c) it 69 ) 99

.<‘ SN S, [y R s - N e !

 9RQ QUARY 62NN |
X &Y (a) and (b) are correct and (c) is (A) (@) 6 (b) OR 9" (c) QR
wrong
(b) and (c) are correctand (a) is (B) () 8 (c) 0) 4&° (a) @R
wrong . 4
(C) (c) and (a) are correct and () is (©) () 8 (a) OR we° (b) YA
wrong

, (b) 8 0
(D) (@), (b) and (c) are correct (D) (@), () 8 (c) O)

( Space For Rough Work )
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37. On heating 10g of calcium carbonate
how much carbondioxide at NTP would
be formed ?

(A) 22:4 1
(B) 11-2 1

(C) 4481

Wl

38. Which one was discovered by using
perforated cathode in the crooke’s
tube ?

(A) Electron

Wn

(C) Neutron

(D) Nucleus

37.

38.

DET/CHEM (1)

10 gl. FINANE KIEAEFCG ARG RER
AIGR 1A 6 FId AIGIER 666 AISR—
QIRYURAINR QYR 629 ?

(A) 22-4 Q.
(B) 11-2 @.
(C) 4-48 .
(D) 2-24 Q.

AT P69 ALYS 1621 LR
QRQIQ 6990 2GS 62 ?

(A) REARSR
(B) 6g16Q B
(©) giga

(D) 4599

( Space For Rough Work )
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DET/CHEM (1)

39. Which one belongs to another class ?
X mn/Asphalt

(B) Pitch/Coaltar

(C) Coal

(D) Coke

40. Which one is different from the
other three ?

(A) Lime
Mme stone
(C) Quick lime

(D) Slaked lime

39

40.

6096 R4 684199 ?
(A) @g6AQ/2IQTING
(B) 949/2IRa9Ial
(C) exiaml

(D) 69IQ

6990 AR T6QIT 019 @ ?

(A) g8
(B) Qa9
(C) @fQe

(D) ¢die g

( Space For Rough Work )
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DET/CHEM (1)

41. The symbol of which one is different 41. 9Q 558 Gae QU 6206 gO1@
from that of the other three according 264 B6RITQ go1QoIq &R ?
to a certain principle ? .

(A) Chlorine (A) 6Q1QQ
(B) Cadmium : (B) Qiediaq

(D) Chromium (D) sgidian

42. One milligram of hydrogen will contain 42. 4R TGN LANELIEFNER 6R60IT

how many atoms ? aQelg e ?
2 \p6023 x 10™ (A) 6-023 x 10%
(B) 6}-023 x 10" (B) 6023 x 10™
(C) 6:023 10” _(€)6:023 x 10™
(D) 6023 x 10” (D) 6:023 x 10*

( Space For Rough Work )

(27) (Turn Over)



DET/CHEM (1)

43. (a) Carbonates of Ca and Mg cause
hardness of water.

(b) Lime removes only temporary
hardness

(¢) Washing soda removes only
permanent hardness.

Ws correctand (b) and (c) are
wrong

(B) (b)iscorrectand (c) and (a) are
wrong

(C) (c)iscorrectand (@) and (b) are
wrong

(D) (a), (b)and (c) are wrong

44. The formula of a metallic oxide is
M,0,. The metal would belong to which
group of the modern periodic table ?

(A) TA
(B) ITA

MA
3L Y

(D) IVA

43. (a) AR 6 AIEILANR QIeIERT
6919 @R Sa 6eIRald

(b) P 6997 AN HAQ 9Q F6Q |

(c) RIIRYRACAIP 6897 IS YaQ
QR R6Q

WA (a) 549" ()6 (c) g
(B) (b) OR N9 (c) 6 (a) QA
(C) (c) OR 98° (a) B (b) Y™

(D) (@, (0) 6 (c) g

44. 49 2GR ARAINER A°68S M,0,
266 | ARYFR A4 ARG G
AIGE 69€ GAR 62IR8Q ?

(A) TA

(B) IA
(C) ImA
(D) IVA

( Space For Rough Work )
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45. Which one of the following is a
neutralisation chemical reaction ?

MAATNGOH + HOI = NaCl+ HO

(B) NaCl + AgNO,=AgCl + NaNO,
(C) Zn+H,SO,= ZnSO, +H,

(D) Fe + CuSO, = FeSO,+Cu

46. O the following in which case
emical change doesn’t occur ?

A)-Eife wood oven is glowing

(B) Kerosene stove is glowing

.Q( %tric oven is glowing

(D) Gobargas oven is glowing

DET/CHEM (1)

45. 36419 FIQ 6QA8 9IAR QUAINRR
gJoqal ass ?

(A) NaOH + HCl = NaCl + H,0
- (B)NaCl+AgNO,= AgCl+NaNO,
(C)Zn +H,SO,= ZnSO, +H, -

(D)Fe + CuSO, = FeSO, + Cu

46. Q619 FRIQ 6QY 6IQER AANRR
Q9as A°a8e g9 AR ?

(A) QI0 QF) 9928
(B) @eude 68I9 *528
(C) R6RATR 0 9928

(D) 691RQ04IQ M SR8

( Space For Rough Work )
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DET/CHEM (1)

47.

£

48.

X

Cu+I,=Cul,
(a) This is a combination reaction.
(b) Thisis aredox reaction.

(¢) This is not a redox reaction.

(A) (a)and (b) are correct and (c) is
png
(a) and (c) are correctand (b) is
wrong

(C) only (a) is correct
(D) only () is correct

"E where
‘E’ is an element and ‘m’ and ‘n’ carry

their usual meanings. E will have

(A) m number of protons and » number
of neutrons

(B) nnumber of protons and 7 number
of neutrons

(C) m number of protons and (n — m)
number of neutrons

A@P'n number of protons and (m— n)

number of neutrons

47.

48.

Cu+, = Cul,
(a) 92! 4R L6V gGRl 26T |
(b) 92! ¥R 6Q9RY YO 26T |
(c) 921 99 609ad 95T 96% |

(A)(a) 8 (b) OR ¥Q° (c) G
(B) (@)@ (c) OR e (b) 9N

(C)699% (a) OR
(D)6a9% (b) OR

"E 690
‘B’ 9@ 6C1R@ 266 99° ‘m’ 6 ‘n’
6A7IREa YIRS 2ol 927 998 |
E 69 8e ’ :

(A) m IR 69I6R, N° n AR
RIS

(B) n QYIS 6gI6R NS m A°H@
g -

(C) m QR 6916] 9° (n—m)
QIR QIER

(D) n QS 64197 99° (m - n)
QAGHI@ QIR

( Space For Rough Work )
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49. (a) Nichrome is a non-ferrous alloy.~
(b) Anamalgamis an alloy.
(¢) 22 carat gold is an alloy.
(A) (a)and (b) are correct and (c) is
wrong

(B) (b) and (c) are correctand (a) is
wrong

(C) (c) and (a) are correct and (b) is
wrong

& (a), (b) and (¢) are correct

50. (a) LPGis a primary fuel
(b) CNG is asecondary fuel

(c) Kerosene is a primary fuel

\Wd (c) are correct and (b) is

wrong

(B) (b)iscorrectand (a) and (c) are
wrong

(C) (a), (b) and (c) are correct

(D) (a), (b) and (c) are worng

DET/CHEM (1)

49. (a) Q6gIF| 9@ 6NLRIR IR, 26T |
(b) ARAIF IR 26T |
(c) 22 Q41696 ¢RI 99 NS 26T |

(A) (a) B(b)0R 9 (c) QM
(B) (b) B (c) OR 9<° (a) QN

(© (©) 8 (@) 5% 9" (b) 4R
\&) . (b) 6 () B

50. (a) LPG 4@ Qa8 Q@9 269 |
(b) CNG 9@ Q019@ Q8R 269 |
(c) @AY 9@ gIafie a8 269 |

(A) (a) 6 (c) OR 9e° (b) gm
(B) (b) O] 9<° (@) 8 (c) QM

(©) (@), () 8 (c) OR
(D) (@), (b) 8 (c) QW

( Space For Rough Work)
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DET/MATH (1)

PART—-1II

(MATHEMATICS)

[ Take & as 22 if nothing else is said about it. ]
7

~ o D
[ 294 65163 QORI @ 2R 7t MG 22 cie2ia 99 | ]

7
' ' Cos i ) BT 4
51. Which of the following is equal to 51. 3qg 6996 (K’ - X 3)(36 “ +1+-\’3)
2 _2 24 L
(x3—x 3](3(: 3.-+jl+x3)? ae e ?
= 4 l—'JC4
@A) = @A) =2
_:1_1 Jx"—l
(B xxz ®) —(%
1+ x2 (C) 1+ x?
C) = x4
1-x? 1-x?
(D) — D) =

( Space For Rough Work )
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52. Which of the following is equal to

x—ly—l +y—lz—l +z—lx—l

X+y+z
(B) xy'z"!

(C) x'y'z

(D) x'yz-

?

53. For what value of x

-2

R

(B)

(©)

Bl vl j

(D)

22.

33

DET/MATH (1)

yrl4y Tzl 4 2oy

= o X
a7]d R

e Aqle ?

(A) x'y'z!
(B) xy'z"
(C) xly'z

(D) x'yz-!

X Q 699 AIf aIe
1-2x
3 (ﬁ) =(i) 9
q p
(A)

(B)

(©)

Bl vils W WM

(D)

X+y+z

( Space For Rough Work )
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DET/MATH (1)

54. Forwhat integral value of x. 4. x Q 609 Qe qig UG

23“”—9x2-"+10=0? 22"'“—9x_2*'+10=0?
(A) 2 (A) 2
(B) -2
N
(D) -1

\%‘ a"=br=pand b*= g = g. then

55. an=p"= pNQ° bt = gv
which of the following is trye 9

= q. 696m,
Qg 6996 gey o

(A) pg=mn + xy,) (A) pg = mn + xy

(B) pg =mn - x (B) pg =mn - xy

Mx-ny=0' . (C) mx —ny = ()

(D) mx+ny=0 ° (D) mx +ny =g

( Space For Rough Work )
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DET/MATH (1)

56. What is the smallest value of the 56. 4x* + 6x - 3 QREAITAING FLOA AIF
polynomial 6060 ?

4>+ bx = 32

|
! (A 2y
(A) 5=
4 | |
(B) -5+
(B <51 4
F 1
1 (C) 3?
€ 33 -
| (D) -31
(D) =37 <

57. For which of the following values of 57.p @ @q9g e A aiQ

P', 4 + px + 2x? + x* leaves a remaider 4+px+2x° +x°Q 2x+ 1 QIQU QUTFER,
2p' when divided by 2x + 1 ?  2p QU668 QEQ ?
i ; 93
(A) 23 (A) 23
3 3
(B) 12 (B) 12
3 22
() 22 () 22
Dy/12 (D) 12
4 4

( Space For Rough Work )
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58. For what value of 'k,

=522+ kx -2

has x — 2 as a factor of it ?

(A) 4
/

g

39,

(©), -4
o

If 4x° — bx? + x - ¢ leaves remainders
0 and 30 when divided by x+ I and
2x - 3 respectively, what is the value
ofc-b7

\ya”n

(B) 9
(C) -11

(D) -9

58.

29,

k Q699 qIg Qe

X =-5x+kx-2@x-2499
QIR 629 ?

(A) 4
(B) 7
(C) -4

(D} =7

QR4 - bx’+x-cQx+1682x-3
Kol Wi KeR, WIS FaUFEF 0 6
30 Q6%, 666 ¢ - b Q AR 6Q60 ?
(A) 11

(B) 9

(©) -11

(D) -9

( Space For Rough Work )
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60. If x+a is a common factor of
x*+ px + g and x* + mx + n, then what

is the value of ‘a’?

(A)

(B)

(©)

n+gq
m-—p

n—q
m+ p

n+gq
m+ p

{ GLadif (@)= 2x+35 xeR.

" What is the value of ‘a’ iff(a)=-5

(A)
(B)
©)
(D

|

~2

3

4

DET/MATH (1)

60. x> +px+qgB8x2+mx+nQx+a4e

61.

ARSI QAR  6[6R, a Q AP
e@ee ?

n+gq
e=p
q

(A)

n—

(8 m+p

n—l—q
) g

h—q
m=p

(D)

fx)=2x+3, xeR |

a Q 699 919 AR £ (a) = -5 629 ?
(A) 1

(B) -2

) 3

Py -4

( Space For Rough Work)
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DET/MATH (1)

62. Givenf:y—s highest prime factor of 62. °q 28 iy, X 0 QLR 6(10g

X. Which of the following is the JE1ae | 899 cagd fQ3giq, g6
range of ‘/”, when the domain js adgq {12, 13. 14, 15, 16) 94 7
{12, 13, 14, 15, 16} 2

A (2,3, 5,7,13) (M) {2, 3, 5,7, 13)
(B) {6, 13,7, 15, 2} (B) {6, 13,7, 15, 2}
(C) {3, 13, 1, 5,8 (C) {3, 13, % 5, 8
(D) {3, 1, 7, 5. 2} (D) {3. 1, 7, s, 2}

63. Which of the following values ofy 63, 8y 9 @94 a9 qIe Qo gmegq

and y do not satisfy the equation log x-2y=0 gg 29 Q1T 69e5
logax—2y=0whena=2? a~=”2' .

(A) x=1, y=9 Arx=1, y=9g

(B) x=4, y=] (B)x=4! y=

(C) x=16, y=2 (C) x=16, y=72

D)r=32, y=4 D x=32, y=y

( Space For Rough Work )

(38) ( Continued )




Ry

64. If log, p*=a- log ,¢°, then what
is the value of p-2 ?

. q3

wr L

(C) g +10°

(D) ¢* - 107

65. If X! = Txy + y2 =, then which
of the following is equal to

—_];(logx+ log v)?

(A) log(x - y)?

(B) log(x + y)?

X=y

(C) log

\A() log

X+ p
3

DET/MATH (1)

64. log, p*=a - log

2 696/,
AR 6960 2

S P

(/3
10~¢

(A)
(B) q3 . lo—a
(C) ¢° +107

(D) ¢* - 107@

65. x* = Txy +y? =0 ¢a6R, Bag sad

7[(10gx+logy) e qaIe ?

(A) log(x - p)*

(B) log(x + y)

(C) log'\;:l
. >

X==y

(D) log

( Space For RoughA Work )A
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DET/MATH (1)

66. If log2 =aand log3 = b, whatisthe ~ 66. log2=a <9 log3=h 626R,

value of logli ? logli Q QIR 6960 ?
\/(f‘\/)2a+b—l (A/),Za-l-b—l
(B) 2a-b6+1 (B) 2a-b+1
(C) a-2b+1 (C) a-2b+1
L
(D) a+2b-1 (D) a+2b-1

67. Which of the following is equal to 67. Bg 6296

| log, 25 +log, 50=log; 2, log; 25 +log, 50— log, 2
- log, 125 ‘ | log, 125 el
.f 4
i (a) % s
; 3 B) 2
a\ ® 3 ;
? : 14
E M © I3
: 3
. |
(D) 15 D) 13

e | ( Space For Rough Work )
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68. Given that log8 =p and log9=g.
Which of the following cannot be
determined using the above data ?

(A) log 15
(B) log 16

(D) log 18

69. Ifa:b=25:3, what is the value of
(5a + 8b) : (6a - 7b) ?

(A) 40: 11

»M:9

(C) 51 1.7

(D) 55:6

DET/MATH (1)

68. @@ 28, log8 = p 8 log9 = ¢ 1 298g
QAU LR AB AP €[N Ada

69.

RAUAIR VAL 9E ?

(A) log 15

(B) log 16

(C) log 17

(D) log 18

a:b=5:3696n,

(5a + 8b) : (6a - 7b) @
7l 660 ?

(A) 40 :

(B) 49 :

(C) 51

(D) 55

11

9

i
16

( Space For Rough Work )
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70. If (42 + ) (Bxy -y =12 . 5, 70, (4x2 + ) (Bxy-32) =12 . 5

what is % €qual to ? : 696m, f@ Ie 6Q60 7
‘ 3 4 354
\Kzorg ; (A) 4 Ql 5
4 5 Bl
(B) Fors B) = < 3
5 6 3 g 6
(C) gord | © §93
6 7 $ 47
(D) 701’§ (D) 7 <l 8

71. The ratio between two numpers is 71. Q0% Qg auveq AYAIB 5:6 | g

S:6and their L.C.M. is 150, What I 99T R:Qq: 150 s2em, gegry
1S the difference between the Q@@ IY6Q g,ej@q 6260 ?
numbers ?
(A) 5
W #
(B) 7
(B) 7
(C) 8
(C) 8
(D) 10
(D) 10

( Space For Rough Work )
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DET/MATH (1)

72. A bag contains one-rupee coins, 72. 69T AW6Q NRGR 91, 50 9ad

50 paise coins and 20 paise coins and el 6 20 9l gQIa AW 2AQAIe
their numbers are in the ratio 3 : 5 : 8. 3:5:81 a%6@ 99 6a1S 142 o
If the total money in the bag is 142 QMR QI 24, 6669 JIgean eI
rupees, what is the total number of el e ¢ '
coins in the bag ? '
(A) 240 (A) 240
(B) 260 (B) 260
(€) 300 (C) 300
Mo P 320
m+n _ 2 ; & m+n _2 2n?
73. If m+3n 3 Whatis the value of 73. mi3n 3 626w, EY —
22 ) e @60 ?
3m? +mn
A
1 £X
(A) = Y7
1
B =
® i
1
C ——
©) © 12
1

[—y

D }m 15

A ( Space For Rough Work )
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74. What is the rational equivalence of 74. 0:32] g a6ag AIe 6960 ¢
0-321
47
47 (4) 35
(A) =%
135
49 145
B) ==
145
) 3L 155
155

33
@/ﬁ O tes
165

= e 3 4 < v
75. Which of the following does not lie 75 @9g caqd 7 %5 queei ged 7
3. .4 '
between 5 and 3

31
31 (A) 75
(A) 20 0
' - 49
& P
61

© & © %o
91

D) ®) 136

( Space For Rough Work )
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DET/MATH (1)

76. Which of the following is a rational 76. G99 6QA% Y@ AQCHIL QWY ?

number ? ;
‘(A) 1:0233233323333 -+ (A) 1-0233233323333 .-
UB*)-’2/3055055055 ----- /(gfz.3055055055 .....
NCE: (©) 3442

(D) 2m+ 1 . (D) 21 + 1

77. Which of the following is arational ~ 77. Q9g 6Q4E 2 8 /3 ANIER 2eGe

number that does not lie between /2 @ 29 IR AREAB QY ?
and /3 ?
M By 14
(B) 15 (3 b2
© 16 oy 16
D) 17 BT

( Space For Rough Work )

(45) ( Turn Over )
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78. The product of two consecutive

79.

posite even numbers is 224, What -

is the odd number between them ?

(A) 11
(B) 13

7

(D) 17

The hypotenuse of aright-triangle is
20 m long. If the difference between
the lengths of the other two sides is
4 m, what is length of the shortest
side in metres 9

W

(B) 10
(C) 8

(D) 6

78. 998 @dg AR JIAHYIQ gacre

224 626, 69 CHYIQA AIQR] agq
YIS Q60 2

(A) 11
(B) 13
£0) 15.
(D) 17

79. <@ aneRia Sgae ada 63ad 20 §.

C 9 9R QIga 6Bdig Qleiey 4 §.
626R, §99Q Y9on QLA 634 6960
deq ?

W

(B) 10
(C) 8

(D) 6

( Space For Rough Work )

( Continued )




80. What 1is the discriminant of the
equation

ax*+(c+2a)x+(b+c)=07?
(A) a*-4ab+ 4c?
(B) ¢ +4ab+ 4c?

(C) 4a® + 4ab + ¢

\@yﬁg-mw+cz

81. If one root of the equation
x* - px+ g =0 is two times the other
one, then which of the following is
true ?

(8) p*-9g=0

%2— 9g=0

(C) pPP+9g=0

(D) 2P +9g=0

DET/MATH (1)

80. ax’*+ (c+2a)x+(b+c)=0
dNRATIQA JERQD Q60 ?

(A) @®-4ab + 4¢?
(B) a*+4ab + 4c?
(C) 4a* + 4ab + 2

}D’) 4a® - 4ab + c*

-~

81. x’ - px + g =0 AAGALR 69T @

ANTQ  QRYE 626R, TAg 69RE
0@ ?

(A) p*-9¢=0
MB) 2p*-99=0
(C) p*+9g=0

(D) 2p*+9g=0

( Space For Rough Work )

( Turn Over )
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82. If one root of the €quation
X¥=-5x+g=0 i

82. AP X%
3 more than the

~5X+9=09 gqiag
@, ANG zcag) 3 AR 626R, g @
other, what is the value of ‘q’? A9 6960 9
A) 2 A) 2
(B) -2 (B) -2
& s 4
(D) -4 (D) -4

83. For what value of ‘4, the equations
7x—y=5and21x—_3

83. kQ 6ad qio AR Tx -y =5 qQe
-3y =k will pe 2lx-3y =% gareaq 9 aegq
Mmutually consistent and depende:nt i 518 G Faagio 6269 2
(A) 7 (A) 7
(B) 10 (B) 10
(C) 12 (©) 12
o

(D 15

( Space For Rough Work )
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. Xz—bx_m—l x3~bx_m_|
‘f fhe - equation ey = m+ 1 ax-c  m+l HiegdR  Aaeaa

has roots which have equal absolute AR AAIR, FIg 95 L9 39916
values but are of opposite sign, what is 0% 839 1 6669 m Q AIe €aLE ?
the value of ‘m’ ?
' a+b
- a+b (A) a—>nb
a-b :
a=b
?rj b &) a+b
a+b
2a+b : 2a+b
A (C a=b © a-b
2a-b 2a-b
3 a+b | ) a+b

85. What is the area, in sq.cm, of the 85. 35 6a.8. Quae Q3¢ 2AS9e6a

largest triangle that can be inscribed 218@%1@ QLR GYEQ 6FYTH 6R6E
in a semicircle of radius 3-5 ¢cm ? Q9 6Q.8. ?
1 I
(A) 7; | (A) 7;
I
(B) 9o (B) 9~
I 0
12— =
AC) (9 12
I
(D) 15 (D) 15~

( Space For Rough Work )

WE ~bntan~C b

J
1)
1

3

aL~bw ~on +¢ T. = !

ML-bWAn~¢ + —mat Ambu AN — M 2

-> Q,}m)y\.’l—‘ “+ &Q»b-—‘mb —-mq)‘\f\ r-tk'm*'l)C -~ 0

2
(@ "‘b) ""‘”\(”\’flﬁ)j (49),: v ("“m)cm'\lj ¢_ (TurnOver)
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86. A cartravels 120 km from 4 to B with 86. 695y @9 49 B adyg 120 8.8,
aspeed of 30 km/hr ang returns back 2QeIg 991930 8.4. cogeq afls)
With a speed of 40 km/hy What is the 8 BQ 4 adyg WeIge 40 3.4,
average speed of the car in km/hr ? 996Q 6@ &Gmy | 6969 QI06q

' Qae  Qigiq LRI 99Igs 696!
49735 . 6966 5.4, 7
(B) 35%7 . (A) 35
g
(C) 34 B3
(C) 34

\/é/) 34; | \gafﬂ-j-

87. What is the value of x in binary form 87. (x), = (1001), =

(101), eg6m, xgq
if(x), + (1001), = (101), ? :

IR 99996Q casg o

(A4) (H11001), | (4) (111001),
(B) (110101), (B) (110101),
(C) (100111), | : (C) (100111),

b{9{/(1.01101)2 (D) (101101),

( Space For Rough Work )

(50 ) -~ (Continyeq )




88. What is the binary equivalence of the

10-base number 43 ?
MOII
(B) 101101
(C) 110011

(D) 110101

&Xﬁe circumference of the base ofa
right circular cylinder is increased by
10 % and the height is decreased by

20 %. What is the percentage decrease
caused in its volume ?

(A) 0-032
(B) 032
(C) 32

(D) 32

DET/MATH (1)

88. @4-2RIQ BEAY QY 439 Q@

89.

AF0EQ IR 6Q6G ?
(A) 101011
(B) 101101
(C) 110011

(D) 110101

9@ d9% Q@ e dnReqa gfa
o 10 % 98 @6m e Qeelg 20 %
QAIRQ 626M, NTIQ YUIAGR 0RE| 6860
gIq IR ?

(A) 0-032

(B) 0-32

(732

(D) 32

( Space For Rough Work )

(s1)

( Turn Over)
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90. Ifablock of wood intheshapeofaright  90. 6915 Q@R Q8 @fis dRaQ 2196

circular cylinder, with diameter equal
to height, is reshaped into a sphere of
maximum size, what will be the ratio
of the surface areas of the original
shape and the new shape ?

(A) 4:3
(€23

(D)3:4

91. One diagonal of arhombus and a side 91
of it are equal in length. If the area of
the rhombus is 72V3 cm?2, what is its
perimeter in cm. ?

(A) 36
‘%}48
(C) 54

(D) 60

Q9% QIO ¢EQ I 8 QES! AAIS |
eg e Qees 6AINe QE Iag
Qg 990 96/, JIQ AR A7y 9IS
6 96Q Q9R 62IR2S NG JFEAR
6AGTRI QLG 6QES ?

(A) 4:3
8y3:2
Gy 223

(D)3:4

. NG 9A9Q 66T R 699, Y2IQ

99 QIgQ 634y 42 AAIR Y9 ILIR
6RgTR 72V3 949l 62.6. 626m, 9219
QRQ1C 6966 64.8. ?

(A) 36
(B) 48
(C) 54

(D) 60

( Space For Rough Work )

(52)

( Continued )



92. What is the ratio between the area of

an equilateral triangle and thatofa
square if their perimeters are equal ?

(A) 4V3 : 3

\/wﬁ 1 373

93.

94.

(C)3V3: 4
(D) 3 : 443

‘What is the median of the odd numbers
that lie between 25 and 61 ?

(A) 42

B

(C) 44

(D) 45

What is the mean of the integers from
-8to+14 ?

(A) 7

(B) 6

(C) 4

*

92.

93.

94.

DET/MATH (1)

QAR AT 8 6QIT AARIQ
@R B 60N HEIGA 6ILTRR
2AQUIe 6966 ?

(A) 4V3 : 3
(By4 : 343
(C)3V3 : 4

‘(D)3 :4V3

25 B 61 YRR AYY LIRS
CRIYAI 6960 ?

~(A) 42

(B) 43

(C) 44

(D) 45

~-8 0I1g +14 adie QdaSuIAIRea
ARINAIR 6968 ?

(A) 7

(B) 6

(C) 4
D)3

——————

( Space For Rough Work )

( Turn Over )
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95. In an examination, the meanmark of =~ 95. Y@ QQAIVIEQ 6TNTY 6g416Q Q|

the boys of a class is 87 and that of the
girls is 3 less. If the boys and the girls
in the class are 18 and 12 respectively,
what is the mean mark of the whole
class

96. In AABC, ,4Bc is arightangle and

BD L AC.If AD=acmand CD=hcm,

what is the length of BD ?

96.

QRAVNIFEQ  FRAA ARIYAIR 2Rl
87 NQ° QIRRIFINER QAR AIYAIS
UMl 3 @7 | 9T QY 6441 URR @
QPR QG Qelge 18 6 12 saIelng,
6662 692 6gaIQ AAg daITe
FAAQ ARINAIR 6R68 ?

(A) 84-4 (A) 84-4
(B) 84-8 (B) 84-8
(C) 854 (C) 854

M&S (D) 85-8

AABC 69, s4pc Q96RIE G&°
BDLAC| 98 4D =a 6Q.4. G
CD=b 69.8 24, 666° BD Q 6361
6060 ?

(A)adp, (A) Ja+h |
(B) Va+5 (B) Va+V5
%x—b ¥ Taxh
(D) Ja™ 45" (D) Ju® 457

( Space For Rough Work )

(54)
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9L

If the ratio of a pair of corresponding
medians of two similar triangles is
p : q.then what is the ratio of the areas
of those two triangles ?

A p:q

B)g:p

W:qz

98.

(D) ¢*: p?

Inacircle, 1@ is a diameter and 4B is
a Chord. PE 1 AB and I@- intersects
ABatK.If PO =26 cmand KO =8 cm,
What is the length of 4B incm ?

(A) 10
(B) 12

(C) 20

M

97.

98.

DET/MATH (1)

QRE Q98 Ggea agld Al
QRGa QAR p:g 626R, AY
CYEYAQ 6ALTRQ 2QAIC @60 ?

A)p:gq
B)g:p
©)pr:¢

(D) ¢ : p?

660G QRQ Y PO 49 4B 4@
@4 1 PO L AB \&° PO B AB Q 685%%
K1€@ PO=2662.8. 68 KO=8 6a.d.
94, 6069 4B Q 690 6960 6Q.5. ?

(A) 10

(B) 12
(C) 20

(D) 24

( Space For Rough Work )
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99. If each side of an equilateral triangle
inscribed in a circle is 12 cm long,
what is the diameter of the circle
incm ?

(A) 8+13

W

(C)4+3

(D) 43

100.Three circles, each of radius 7 cm,
touch each other externally. How
much is the area of the sectors, in cm?,
enclosed in the triangle formed by
joining the centres ?

@ 2

®)

\/)77

(D) 154

99. 9@ 9R6Q UBRYE 9@ AAFIL GRS
g6oie QI 6794 12 69.8 sa6q,
Qg QA I 6960 64.6. ?

(A) 8 + 3

{LBa 83

(C)4+13 -

(D) 4V3

100.76Q.8. @14 Qs 338 ORI
Q@ deERq ANE QB | 689
06RI0g 6919 RAQIQIA QYR Q1RSI
GQe 6 ASYS LWRRIFFea
6RQTR 6@60 Q9 6.6, ? :

77

(A) N

77
B
(B) 3

»(,8'{77

(D) 154

( Space For Rough Work )
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SET CODE-1 el

Q.No. Answer - NOSET COZ‘E;:'er
; g 51 B
: : 52 A
; s 53 A
: z 54 c
2 : 55 c
g B 56 B
! 3 57 D
: : 58 B
10 B 5 .

60 D

1 D > >
12 B > 2
3 ) o 3
14 c > :
— -
oo 17 T gg; * ’é
18 B > 2
19 c i :
20 A > =
21 c o 2
22 D : 4
2 A & 5
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2 D 4 2
29 D £ =
30 A o 2

3 D & :
32 C > 2
33 D S z
34 B o -
35 A = 2
36 A - =
37 D e 2
38 B o 2
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40 B o :
41 c > :
22 A . -
13 B = 2
14 c o 3
25 A o o
26 c o 2
a7 A - 2
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49 B o :
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